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(Ex) BEfiBkER
m cm in {t R
1 100 39.3701 3.28084 53
0.01 it 0.3937 0.03281 0.033
0.0254 2.54 1 0.08333 0.08382
-0.3048 30.48 12 1l 1.00584
0.3030 30.30 11.9303 0.99419 il

1 £=107%cm, 1 A=107%m, 1mil=10"%n,

lyard= 3ft, 1 mile=80chain=1609.344m

1E=360T, 1M =60/, 1E=6~
(EFE & 165E)

1 acre=4046.856n", 1 are=100n?,

1WT=108%, 1 B =108 =300}

1 gal (3€) =4.546091, 1 gal(J£)=3.78541/, 1F-=1.803911

1 barrel CAVH) =42gal (3£) =35gal (3£) =158 .991 |

1 £f=3.305785m

(BEx)

kg Ib =
1 2.20462 0.266667 11b=160z, 10z=28.3495¢
0.453592 7 0.120958 | 1 carat=200mg
375 9.26733 1 1 E=1000%, 14=3.75¢
(FH)

Pa(N-m~%) bar kg/cm? Ib/in?(psi) atm

1 10-5 1.01972X 1073 | 1.45038X 107 |9.86923 X 10-5

105 Pl 1.01972 14.5038 0.986923
9.80665X 10* |0.980665 1 14.2233 0.967841
6.89476 X 10° | 6.89476 X102 |7.03070 X102 |1 6.80460X 102
1.0132510°5 |1.01325 1.03323 14.6959 Rk
(ZANF-)

J/mol cal*/mol eV em™!

1 0.2390 1.0364 X 1075 | 8.3595 x 10~
4.184 1 4.3363 X 107° | 3.4976 X 10-!
9.6485 X 10¢ 2.3060 X 104 1 8.0655 X 10°
1.1963 X 10t 2.8592 1.2399 X 107* 1
* #ibEEA g —

1 BTU (British thermal unit) = 2.5216 X 102 cal :
€T =(F — 32) X ‘g—

9

"F=—§C+32‘
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